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An oil drop of radius 2 mm with a density 3 g cm 3 is held stationary under a constant
electric field 3.55 % 10° V m ! in the Millikan’s oil drop experiment. What is the number of

excess electrons that the oil drop will possess ?

Consider g=9.81 m/s”
Options :

10
86435120521, 17-3*10

10
86435120522, 1/ *10

12
86435120523, 172 > 10

11
86435120524, 18-810

Question Number : 1 Question Id : 8643516841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wlavellsen erammGlenn Heuenew Cargenanuiley wrmrg Wemyeod 3.55x10° V.m~! -é

2 mm o 6TemT T 3 g om™? LiGHYD Garam g eeambemi Heiema
Beaveowrs aeaussuul(hearerg. eantem Houame GCubmearer Weans
ereu&L_rrengsetlen erammentlEans
5=981 m/s? eran HMHSH e O TemERHBIHET.

Options :

86435120521, 173 <1010

10
86435120522, 1-/3>10

12
86435120523, 173 10

11
86435120524, 18:810

Question Number : 2 Question Id : 8643516842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant power delivering machine has towed a box, which was initially at rest, along a
horizontal straight line. The distance moved by the box in time ‘' is proportional to :

Options :

2/90
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86435120525, £/2

¢1/2
86435120526.

(2/3
86435120527.

86435120528. :

Question Number : 2 Question Id : 8643516842 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Car_sssdla Seansgser CrTGarLgea gla] Blaaulld aneudssiulgmbs LIMHTE
Fmenen CeuafulHid epm erhlrbd euL ssuldndlamre Wameandsl L em QU igeaw
B wssF Ceodlng. t' -srasdlad Quly p&ibs sITD Spssare geanmhng Cni
el flasdler @(mEGLD

Options :

86435120525, £/2

¢1/2
86435120526.

(2/3
86435120527.

86435120528. :

Question Number : 3 Question Id : 8643516843 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :

(Assume that the magnetic field is confined with in the volume of respective solenoid).

Options :
86435120529. LE

86435120530. 3]

86435120531. 53

86435120532. Ty

Question Number : 3 Question Id : 8643516843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A, B, C npmb D eranm @5 BewrL euflésmarser qeanmLean gearm UL Gl
Srliguwielmn @lenemds Ul (heTeng). A -ar enwwdbSle srhsLien 3 T erefe C -ai
wwsda moub srhsuLeb (euflFsmala sarserailde srbhgslL@bD b
@OUEL L erévenend @ (HeTeng))

Options :

86435120529. L

86435120530. 3]
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86435120531. S

2
86435120532. e

Question Number : 4 Question Id : 8643516844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The P-V diagram of a diatomic ideal gas system going under C}-'clic process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4) :

A D
200N/m2f-------- <
SN
|
p L8 7 Lo > LSO
B! .
| | |
| | |
P : & i
| | |
| | |
| L
| | |
| | |
| | |
| | |
| E 3
| | |
1 3 4
4}, vV [mg}
Options :
400 ]
86435120533.
86435120534. 500 ]
86435120535, 200
400 ]
86435120536.

Question Number : 4 Question Id : 8643516844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FL0M& Glaueapennuie 2 arar em Framl Hevadlwed aumy jenwliber P-V euenruL_Lb
UL gdleé sriL Oul (Rdrerg). Cleulin wrpiLnn flepey CD -ar Curg el L
Ceueney (y=1.4 eran LweTL(HGSS)

A D
200 N/m?2 f--=-=---- <
AR
100 N/m?2 |- > 1 \C
B Lo
| | |
| | |
| | |
P | | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
1 3 4
— » V(Y
Options :
400 ]
86435120533,
86435120534, 200 ]

86435120535, 200 ]

0]
86435120536.

Question Number : 5 Question Id : 8643516845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented 'm, :

Options :
86435120537.
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position
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86435120538.
§| «©
Q
Al -
—
86435120539,
§ «©
-
D- e
—
86435120540,
-
. N\
g
£
By
— >t

Question Number : 5 Question Id : 8643516845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

velocity

velocity

t
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velocity

o

&

Correct Marks : 4 Wrong Marks : 1

wrors Wphessdea Csaab gm sisalear Hlaw, SHasCausbd wHmb whHESLD

& L& & GO0T L_GL T (1) @hlasluBdng ?
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86435120537.
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a(t)

x ()

Hlenev
fensGausin
%
(:p@HanLD

—> — t — t
86435120538.
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Question Number : 6 Question Id : 8643516846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to
change from its maximum to the rms value is :

Options :

86435120541, = TS
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86435120542, 2> ™S

86435120543, 0-2° ms

86435120544, 2 S

Question Number : 6 Question Id : 8643516846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
220 V wpmibd 50 Hz eissdeperer g wrpdlens Wlem epad g Wleisean L L e
G enamtéas L (HeTeng). sigen WlenGarm b Gumn wdH b mbg rms wHGDHE
IMmeUENE eT(HdSIHEETETERD Sreib :
Options :
86435120541, 2> ™S

86435120542, 2> ™S

86435120543, U-2° ms

86435120544, 2 S

Question Number : 7 Question Id : 8643516847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

pIaced al a distance of 0.5 m from them. The distance between the first and the third hright

fringe formed when the slits are illuminated by a monochromatic light of 5890 A is :
Options :

i 12
86435120545, 1178 x10~ “m

7
86435120546, 2890 X107 " m

rd 9
86435120547, 1178%107 " m

9/90
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1178 x10~® m
86435120548.

Question Number : 7 Question Id : 8643516847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wi @rieru Yearey Cergmearula, YereysErssrear @ Geuefl 0.5 mm.
@ gafladl mbg Heor 0.5 m Qgraneelleyd 2 drerg). Wetaysar 5890 A Qsrar g@heanm
Hlm el apassred eaflul L Ul mé @ (pHe LHMID fpeamreusg Clsefleurar
auflsenslenL_ Guiwirar g

Options :

12

86435120545, 1178107 " m

86435120546, 2890 X 107" m

o Q9
86435120547, 1178x107 " m

1178 10" ®m
86435120548.

Question Number : 8 Question Id : 8643516848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :

Options :

86435120549 O times the mass of e

. |
— times the mass of e
86435120550. 16

86435120551, 16 times the mass of e

E times the mass of e
86435120552.

Question Number : 8 Question Id : 8643516848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

@ FiseT ereslrralean Cousbans afll 4 wLmE Coussdlad Lweaisdng. ssaflen
g9 r&ell ojemar BengHlh@n eravdLlyraflen siena BersSlm@omer eSS 2: 1 erafled
g gaflan Blenm :

Options :
86435120549, € 6 Bleomuded 8 oL miE,
) o1 .
e~ -am Hlenmpude 16 LLRG
86435120550.
2~ —gir lenmulled 16 DL
86435120551, &S0 S
T
e~ -aim Hlepmuléd — LG
86435120552. g 8 S

Question Number : 9 Question Id : 8643516849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = zqr\jz. The measured value of the
g

length of pendulum is 10 cm known to a 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy
in the determination of ‘g’ using this pendulum is ‘x". The value of “x" to the nearest integer

is,
Options :
2%
86435120553.
3 %
86435120554.
4%
86435120555.
5%
86435120556.

Question Number : 9 Question Id : 8643516849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

@m Sail sagadlen enaa; Crrd T = 2.7\/1 erem SrULL_(heTerg). 2ergaden f,@rrﬁn

1 mm gavedlwddled 10 cm erameyd sargedlem 200 BienaeHEhsarean jeanae GBI 1s
u@GSmeafler 100 eflenmg &er erameyd erallLuhidlng. Geia,Fama LweaU(hssl
‘g -m senell(hgeiler Faadl F#saishn ¥ erafld ‘¥ -ar wHIL imEld 2 6Ter 1oL

6T &uT 6Tl ) (&,
Options :
2%
86435120553.
3 %
86435120554.
4%
86435120555.
&
86435120556. o

Question Number : 10 Question Id : 8643516850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

86435120557, 100 €V

86435120558, 2/-2 eV

86435120559, 012 eV

86435120560, 25122 €V

Question Number : 10 Question Id : 8643516850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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emaml_lgrmear jemeid o der eraslgrer Wlu,eurer (u) Hsar Clemen
wroplupeugsrs sHueaer e, Wweurar gisafer Hlenm erevd rrefen Hlenmenw
Cumremm 207 wLmE wHnw WBwere gSaaflear Wereyrl Lid eread L ymeiler
Blemenri L S&ln@ Fob erafler enamiiqremen sigmieflan owualurés mme :
Options :

86435120557, 100 €V

86435120558, 2/-2 eV

86435120559, L2 eV

86435120560, 25122 €V

Question Number : 11 Question Id : 8643516851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample disintegrates via two independent decay processes having half lives

™ ' , ‘ i )
1 and 1 respectively. The effective half-life, le ok thicmide i
Options :
(1) ~(2)
TI,-' TI,-'
Ty, = _ Sl R
1/ 1/
86435120561. F2 /2
TI"E = TE.} }TE_}
86435120562. /2 #2
(1) (2)
T]."f;_' [ TI-"E
Ty= 0 6
1/ 1/
86435120563. 2 /2
86435120564 None of the above

Question Number : 11 Question Id : 8643516851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

(1) (2)
e sdflwss wrdf TI"ﬁ LD MILD TI"E DT DL STehIsGET ClarenrL gemGlmmerm)

Cgriumm @m faseym Blspeysaie HageouanL Semmen. oi@midsHmelen Lwgm)
2|6 UL ST :

Options :
Pl
Ty, = /2 /2
86435120561. /2 5
TI"fi = TE.} I Ti%}
86435120562. /2 72
OB
ey o /2
le - 0@
86435120563. 72 /2
c6135120564, DUDDID ergaud Géeana

Question Number : 12 Question Id : 8643516852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.
Options :
86435120565, shape of the loop remains unchanged

86435120566. loop assumes circular shape with its plane normal to the field

26435120567 loop assumes circular shape with its plane parallel to the field

86435120568 wire gets stretched to become straig,ht

Question Number : 12 Question Id : 8643516852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
@ pdpaurar shlullarar @orsHn egey samanl WearGarlLgms b
CEwad e Gpdlpeurar sblullarear gupresdn ealgeailarar Samea LDSETHS
Heoddled emeaudssiul(Herarg. sb@ullar Bsrer srhsl Yoddlear allenarene
& GOOT(H TS
Options :
86435120565, seanTeniiuflen 6ulgeuLD LOTMTDED 2 ETETS).
saneaniluien Sard &rhg LasdnE CFm@Gssrs o drareurm seanTemil
86435120566, -4 @a GLDADS.

86435120567.
saneanluien Seard S&rbsL LeadHlnE Glenennurs o ereneurn &erentl eul L
suenel Glumdlmg.

sca35120565. S CBITE siwweny Bl ssiu@dpsg.

Question Number : 13 Question Id : 8643516853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the experiment of Ohm'’s law, a potential difference of 5.0 V is applied across the end of a

conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor
is 200 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435120569, -9

86435120570. 7.3

86435120571. 8.4

86435120572. 3.0

Question Number : 13 Question Id : 8643516853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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@ dldflssrar Cargeaanied 5.00 mm. <repd 10.0 cm Berapb Q&remi g
sLsSullen eneansensslan G 5.0 V Wlerarpss Ceaumur(h efls&slubhEng.
slereflL iUl L LGSl o dtar WlenGanm_ L 2.00 A, sLgSlulder WlergeanL ulle
<jawHlasiumn Qumn sseisl Wl
Options :

86435120569, -9

86435120570. 7.3

86435120571. 8.4

86435120572. 3.0

Question Number : 14 Question Id : 8643516854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The time period of a satellite in a circular orbit of radius R is T. The period of another satellite
in a circular orbit of radius 9R is :

Options :

86435120573, O |

86435120574.

86435120575, 2/ T

12T
86435120576.

Question Number : 14 Question Id : 8643516854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R =,mb Glsra, sul L Liurensuiler &omib em semans&Garaflar ojamaa; Crrn T
erafled 9R =y raperer eul L Liurengulles &nmib wHEmrm genansCaraflen 2jeneaay
Crrw :

Options :

86435120573, O |
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86435120574.

86435120575. SEE

12T
86435120576.

Question Number : 15 Question Id : 8643516855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a series LCR resonance circuit, if we change the resistance only, from a lower to higher
value :

Options :

86435120577. The resonance [ requency will increase

26435120578, The bandwidth of resonance circuit will increase

26435120579, Lhe quality factor will increase

The quaiiﬁ-‘ factor and the resonance frequ ency will remain constant
86435120580. z 2

Question Number : 15 Question Id : 8643516855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ Ggr_i LCR g@&sdlia) snmled, Wearga wl (Hb @Gmnbs wHndadlmbg o wi
wdHlbnE wronuuhin Gurg :

Options :
36435120577, BEBATAQE AFEAESL.

96435120578, p&sHlire] snhler Ll gon HlaflEE.

86435120579, TS Smyanil iflaflEE0

LT & S&Trenfl whHmib edsdltleusnr @ranr(hb wrmroe @)msEL0D.
s6435120550, O SIS 0PQID GEEEITC Girem(Hi I SIS

17/90



3/18/2021

Question Number : 16 Question Id : 8643516856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having eve sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

86435120581 Myopia and hypermetropia

86435120582, L resbyopia with Astigmatism

86435120583, *stigmatism

86435120584, Myopia with Astigmatism

Question Number : 16 Question Id : 8643516856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D an@enL Wl BerLi urfeney S o d@rereuf. jeue Ggreneelledy o drar Fymean
Fanana cuevavenl Ggefleurs aremr @uerss. Coab jeEhdE@E 2% Frmnb
2 m&Gamahg b Csfdng. wmsgeur @Ubrsflamearaw @leueumrm SHarMlhHg
Famdlmmi.
Options :
86435120581 enEUMYwr wHmw eanliu ol Crm&wr

26435120582, revenuGumdlwireyem =eavigSCEoL 1g F1D

86435120583, AV ECLLI3HD

T [ 1o 1 T TEL _n_r = - ..- re] & =
86435120584, SEUNETLAIC B BE SioI0 Tl Fi

Question Number : 17 Question Id : 8643516857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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What will be the average value of energy along one degree of freedom for an ideal gas in
thermal equilibrium at a temperature T 7 (kg is Boltzmann constant)

Options :

kT
86435120585

86435120586.

86435120587.

2
86435120588.

Question Number : 17 Question Id : 8643516857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I s R i ” i e Q) v
T -QastuBlenauller Geuiug swhlanaulaperer g Heved we airujeier ¢
2 flenwol Ligssrar grrefl nma (kg-Cural evblwer wrbledl)

Options :

kT
86435120585,

kT

M| =

86435120586.

k3 | 2

kgT
86435120587.

2
86435120588.

Question Number : 18 Question Id : 8643516858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - 1 with List - IL
List - 1

(a) 10 km height over earth’s surface
(b) 70 km height over earth’s surface
(c) 180 km height over earth’s surface
(d) 270 km height over earth’s surface

Options :

86435120589, @), (b)~(iid), ()-(ii), (d)-(i)

86435120590, @ (D), (B)-(i), ()-(3), (d)-(iv)
86435120591, @ (H), (b)=(1), ()-(iv), (d)-(iii)

26435120592, (@)-(D), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 18 Question Id : 8643516858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

euffleme 1-2 Lcin euflems 11-2 UlHs.
euflens - 1

(a) wed urd@er Guwea 10 km 2 Wb

(b) yedl urudlen Gue 70 km 2 wirid

(¢) wed urder Guwe 180 km 2 wird

(d) yedl uriben Guoe 270 km 2 wird

(i)

(i)
(i)
(iv)

List - 11
Thermosphere
Mesosphere
Stratosphere
Troposphere

eufflems - 11

Qg rGwmaenGwir
B Ge men (G i

e _CreLmeullwir

U CrrGureuGwir

Yemeumb Caireyflenwaafley aflumen eflenL e CarnEs(.

Options :

86435120580, @), (b)~(iid), ()-(ii), (d)-(i)

86435120590, @ () (B)-(1d). (0)-(3). (d)}-(iv)
86435120591, @)F(H) (b)=(1), ()-(iv), (d)-(iii)

26435120592, (@)-(D), (b)-(iv), (c)-(ii), (d)-(i1)
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Question Number : 19 Question Id : 8643516859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave of frequency 100 MHz is travelling in vacuum along the

— M M
x-direction. At a particular point in space and time, B = 2.0 x 10°® k T. (where, k is unit
vector along z-direction) What is E at this point ?

(speed of light c=3x10° m/s)
Options :

06 j V/m
86435120593.

86435120594, 00 1 V/m

60 k V/m
86435120595.

86435120596, 0 k V/m

Question Number : 19 Question Id : 8643516859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QeundlLsdle x -&dlen Hensuder LwWemTl&EGD e FwHem Wler SrhHs janaudler

2 dlrdeuenr 100 MHz egm GOeael-srwsde em @oHludir yeraflulea

—

B=20x10% kT (Qig k -eranuig) z -oiFflan Flenguler o emar ojeuE CleudL i)
arafler gyiyeretiudles E (gaflullen flensGousd c=3x10% m/s)

Options :

06 j V/m
86435120593.

86435120594, 00 1 V/m

6.0 k V/m
86435120595,

86435120596, 00 K V/m
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Question Number : 20 Question Id : 8643516860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.
Two particles having mass m each are now attached at diametrically opposite points. The

angular speed of the ring will become :

Options :
M

e iy
M4+ m

86435120597.

M

o M.
; 9
86435120508, 1 °m

M —2m
/ ol
86435120599, W T =m
M+ 2m

86435120600. M

Question Number : 20 Question Id : 8643516860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M -Blepmuid 1 -2, Tpd Clsranr em Glweedlu eueneTD 2iHen &flanar ClLTmISS)
w -Garanr Ceaussg e &HmEDg. sHCUTE geableuramid m -BlenmujenLw @)m
gsearaser el aufl Crbrdli yeraflsafler QurmEsLL (HeTerer. eusanariddlen
Caremr Goussb :

Options :
8|
e i
M+ m
86435120597.
M
M+ 2m
86435120598.
M—-2m
=
M+ 2m
86435120599.
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M + 2m
[\l

(xd

86435120600.

Physics Section B

Section Id : 864351458
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351458
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643516861 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An npn transistor operates as a common emitter amplifier with a power gain of 10° The

input circuit resistance is 100 ) and the output load resistance is 10 k{}. The common emitter

current gain ‘B will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

. (Round off to the Nearest Integer)

Question Number : 21 Question Id : 8643516861 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@@ npn-igrrenflevir, HpenGumssd 108 Aaram, @@ Qurg o O pLiLimer
Qusdlwurs Gewuau®dng. sofer 2 deaf( Wargan 100 Q wHmw Ceueflui® Lies
Blengen 10 k2 erafled Gurg o Wipliurer WearGerr L Gum&sD B’
(2mGa 2 e (p(p eTewT Sl(HESLOMS)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643516862 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 10 kg moving with a velocity IIU\E m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of
10 m/s. The second piece starts moving at an angle of 30° with respect to the x-axis.

The velocity of the ball moving at 30 with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest integer is

Y- ax1s 1 Pigee 1

711=10m/s
\K: X - axis
T2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516862 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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x-oFdlen Slensulled 1043 m/s SlanaCaiasdlar Caawad 10 kg Hlanmblsran e
ubg 20 kg BlespyerLw guiay Hlaeulaearer wHEmrm ubder Bg Curgdng.
Cursas@Euldng wae Ubg el Hlanaenil 2jenL&mg| rmrs @)FenTL_Teug) Libg)
@ g0 glanhsarrs HAsmdlng. m san( y-&dear fasude 10 m/s Coussdled
Quiis Aerim@dng. @rariraug S x-u&FsL e 30° Carangdla HaT
Qariki@dng). x -sFaen 30° Carang e mamD Hisatlen HansGousd x m/s erafle
x -an AU (2mEs o eter (P TATEISE)

Curgas@l Yereant geaw(haaflear Blanaser UL Gla sriL i (hererg.

Y-axis ¥ Piecel

,=10m/s

» X-axis

0"

Uy
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 23 Question Id : 8643516863 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 (} resistor in the given circuit is x volt.

50 O)
— VW MWN——r
_— 200

170V :

| ! -
The value of ‘x’ to the nearest i_nteger is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 23 Question Id : 8643516863 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Qarasiu’(herer &nmled 10 Q WeangenLulen GmsGs Werarpssnd x Ceural ser.

50 )
— VWY MN——
_— 200
v T

| |
‘X -an UL HEE 2 eTaT (1P CTETERISSE,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643516864 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
o

B

10m
1,- 5‘ m
hoﬁ'fﬁ’ﬂta

Sﬂf I‘[aﬂe’

Y

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the
particle at B is x m/s.

(Take g=10 m/s?)

The value of “x” to the nearest integer is

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643516864 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
A

10m
5m

£ 55
L

b 4

UL gdled 2 arereurm 10 kg BlenmujenL_ ep(m i&eT LiaTatl A-6b o atang). gisar SMlgeney
eualu&gsors @Lotduwr delwdiubhn Curgy parstsrimd yerefl B-gm
2ienL&mgl. yarafll B-o gsaflenr SensCGeusd x m/s. (g=10 m/s* eTes)

i r

x" -an Sl (mEs 2 6Ter (LD 6T aTamIHS)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516865 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle performs simple harmonic motion with a period of 2 second. The time taken by
the particle to cover a displacement equal to half of its amplitude from the mean position is
1

B

a

The value of “a" to the nearest integer is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643516865 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

R Hsa 2 alanrysar Jywee Crrb Csrare @m Flas Qusssas
CuonGlararélmg. Fuwblanaulledmbg urg]h_.n@f'@_ a1&8 Mm@ Fwwrer @LUGLwLTFHenw

) o e n gl . . : 7

DenL W GIEET eT(HNHGC&TET(@RD &b — s erefled ‘a’ -er Y (mEsE 2 erer
. ! " _ _

P TEHTEES)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643516866 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3pF 5 MQ
| | AAANANAN —0mM—
11

q=30 pC

\

The circuit shown in the figure consists of a charged capacitor of capacity 3 puF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 MI) resistor is ‘x" pA.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 26 Question Id : 8643516866 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3puF 5 M)
| |
|1 AAAA)

q=30 puC

o\
UL gdledr sriL Lol (herer WenrGeadl snm 3 pF WanGeaE SHmen, WlarGegsdl whmib

30 pC Wlengnr L seng Garam(harergl. sreo t=0 erayd Gurg srall epr oL
Blanauder 5 MQ Wlensen eulGw umyn WenGearmL b ‘x" pA erafled x” -aim Wiy
(21mCas 26TeT (LP(D ETETEmISS,)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516867 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches

to a point directly opposite on the other side of the river. The speed of the flow is ‘x" m/s.
The value of “x” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516867 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
<philer o drer Bfler @l Havss@ 120° Caramsdled 10 m/s HansCeussdld BHsib
el = nler wnsmruled Crbrdi yaraflenw e dpmr. ECrmL sdHar Ceusid

)

x’ m/s erailed ‘x° -er wWHUY (2mGCE o6Ter (PP 6T e amldS)
Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643516868 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are
subjected to a force of 2 N. Assume that both the wires are made up of same material and
the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B

a
are in the ratioof a : b. Then E can be expressed as — where x is
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643516868 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A womib B eranrm seaflssailwrer @m snbsear 2 N alangs@ o L uhissLuhin Curs

wernCGu 2 mm wHMID 4 mm FLHA e fng. @ sDOsEHD @ds5 CurmerTea

pang eTanad &0 B -an rid S0 A -y rdang Curenm 4 LBIE eTaTe|d
a 1

HMmEIS. A whmb B swlsefllen Berhiserssrar el sn a :b. erafléd i GTEN

@mlUALemb, @ rkiE = GT &I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516869 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A parallel plate capacitor has plate area 100 m? and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is ‘x’ pF.
The value of £,=8.85x10"12 F.m ™!

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516869 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@ eanantss(H WenGasdlude s gem urliy 100 m? wHmb s (haiendE @ eanL Guwiwimen
Lgrenewey 10 m. s&bHSERsE @an L Cuwrear GenL Gleuafl Wersriy wrmled 10
Caranr_ Glummerred 5 m Sig endE Brouuubhidng. molber Blar WarGsesE
gmen ‘x’ pF. (g,=8.85x10"12 Fm~1) ‘2’ -am wdliy (2mCa o emer (p(p ecramtamiss)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516870 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is

10 m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding
force on the bullet is “x” N.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 30 Question Id : 8643516870 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.1 kg Hlenm GlarawL @ sUUTES Gan(h wWréslal sa(hmedl ClFwainmm
FLOUREDS. o aréd =g 50 cm gMrsdlnE caBimedw Yer =igHa)er @uiey
Blenawenw e dng. LISl STEGuSnE e Gangea SasCaushd
10 m/s. Cugud Frrar @hHéssgLan Cousd Gamndng. @emger Laerar Lwam
&5 ailensuler eramr ALY ‘x’ N. erafled x” -anm wHuy (2mGs =_drer 1oL
6T GUOTEII & (5, )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351459
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351459
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643516871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hep structure. The formula of the binary compound
1S :

Options :

86435120611. .
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M,A,
86435120612, 47

86435120613, MA3

86435120614, MaA

Question Number : 31 Question Id : 8643516871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@m mram Cerwgdla, A -eranm salwdlear oam hep (SmmGsrean Glmmaidl
Qurdlhs) iy 2 (mHeurs@GEng. b o arer 2/3 ukiE Bremwpdl Cleumbdl
M -eramm sailgsre Blruulul (Hererg erafle b rFram GCamogdler eumiiumh :

Options :

86435120611, 23

M, A
86435120612, 473

86435120613, MA3

86435120614, MaA

Question Number : 32 Question Id : 8643516872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain orbital has no angular nodes and two radial nodes. The orbital is :
Options :

86435120615, 25

2p
86435120616.

86435120617, S

3p
86435120618.
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Question Number : 32 Question Id : 8643516872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ GOl il réd Caramssassamerls Gunmlmaésaileane . =y, arme
@ran(h 2 résa@ssamarl CUDmETaTS. Bibs M9 LT :

Options :

86435120615, 25

2p
86435120616.

86435120617, S

86435120618, F

Question Number : 33 Question Id : 8643516873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) Z5M-5
(b) Contact process (i) CuCl,
(c) Cracking of hydrocarbons (iii) Particles ‘Ni
(d) Hydrogenation of vegetable oils  (iv) V,05

Choose the most appropriate answer from the options given below :
Options :
86435120619, @)-(1), (b)-(iii), (c)-(ii), (d)-(iv)

86435120620, \@)-(1v), (B)-(ii), (c)}-(1), (d)-(iii)
26435120621, @)-(ii), (b)-(1), (c)-(iv), (d)-(ii)

86435120622, @), (D)-(1v), (©)-(), (d)-(ii3)

Question Number : 33 Question Id : 8643516873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

suffleme - 12 L an euflema - Il -anw ClLrmESS.

auflems - I euflems - 11
(QlFweso(wemm) (eflem euy, &)
(a) Glgsmenr GClFwaupenm (i) ZSM-5
(b) GsrH penm (i) CuCl,
() enan Grr sriuallen Hansey (ii)) ‘Ni’ -gner
(d) sreur cramenemreni enaml_rEGartmmn GFlga (iv) V,0

Spdsar_cupmladlmbag el Glummgonen alaLamwus Caibols .
Options :
86435120619, (@)1, (b)-(iil), (c)~(ii), (d)-(iv)

86435120620, @), (b)-(1i), (c)-(1), (d)-(ii1)
26435120621, (@)-(1i), (b)=(1), (c)~(iv), (d)-(ii)

26435120602, @@, (B)-(1v), (c)-(), (d)-(iii)

Question Number : 34 Question Id : 8643516874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The ionic radius of Na* ion is 1.02 A. The ionic radii (in A) of Mg?* and AI**, respectively,
are :
Options :
86435120623, 0-85 and 0.99

86435120624, 072 and 0.54

86435120625, 068 and 0.72

86435120626, 109 and 0.99

Question Number : 34 Question Id : 8643516874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Nat - siwafl @prd 102 A Mg?* wppid AP+ sy fluaipfier siwefl opriised
(A -&) apermGu
Options :
86435120623, -89 DML 0.99

86435120624, 0-72 LoDmD 0.54

86435120625, 0-68 O md 0.72

86435120626, 102 LOMIL 0.9

Question Number : 35 Question Id : 8643516875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :

Options :
86435120627, bBauxite

86435120628, 1aolite

86435120629, —alamine

86435120630, TYolite

Question Number : 35 Question Id : 8643516875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s@ilalun WARsdsHsstuBn Curws soameaulear = (jE Howmwus
@ennLusn@ Garssuuhibn Geudlublummer :

Options :

86435120627, LTHEEUL

86435120628, ©ELTENEL

86435120629, MevenLben
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86435120630, SH@TEWIE@L

Question Number : 36 Question Id : 8643516876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion A : During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO;,.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

86435120631, Poth A and R are true and R is the correct explanation of A

86435120632, both A and R are true but R is NOT the correct explanation of A
86435120633, A is true but R is false

86435120634, /A 1s false but R is true

Question Number : 36 Question Id : 8643516876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ECp @rean( smpmssar QarGaésuul(Derers @ @em Faom A woHbmmerm
snyewtd R eremm @ollbL LUl (Hemerg).
Fn&EMe0ls gahm A: sgar fay Cardléds eeudsiu@Bbn Humpg MgHCO;),,

MgCO, -8 wromweaL £mg).

gnyewrid R: Mg(OH), -an sanydlmen GClumasn MgCO; -anw efl iHlsLb.
Cohamdlu sannéseflear ogluam¥lda £Cp arfsésiul bl mbs el
Glunmagswnes aflenLenwd CHimnEs M.

Options :

86435120631.
A wpmib R @ream(Bn #f Coeyd R -eramug) A -&@ sflwurer afler&sworELb.

86435120632.
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A wpmb R @ream(hn #f oerred R -eremug A -sasmen sflwurear efletdsb
@eenan.

26435120633 A -gff] Wwired < emmer R - Seummend.

A -geupran 1réd R -#flwimans.
86435120634, + ~OUDTENS paTe Lireng

Question Number : 37 Question Id : 8643516877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List- 11
(a) Ca(OCl), (i) Antacid
1 g
(b) CaSO, - EHEO (ii) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :

26435120635, (@)1, (B)-(iv), (c)-(iii), (d)-(ii)

86435120636. {a}-{iii], {b]-{ii], {C]-{i]r {d}'{i‘-’]

86435120637, (@)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

86435120638, (@) (i), (b)-(iv), (c)-(i1), (d)-(1)

Question Number : 37 Question Id : 8643516877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Ul iquwev - I -ajLem Ul iguwiev - 11 -enw Gum(msss.

LI iguisv - 1 UL igwisv - 11
(a) Ca(OCl), i) <o Bad
1
(b)) CaSO, - 7HO (i) &QwerL
(¢) CaO (i) SrienwLUHESID LT
(d) CaCO, (iv) urflev Uens

&Gy Oar@&ésiu’ (Hatereupdladlmbg Was sflwmer el ews CaibES0 .

Options :
26435120635, @), B)-v), (©)(ii), (d)-(ii)

26435120636, (@)(ii), (b)-(i), (c)-(), (d)-(iv)
86435120637, (@)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

86435120638. (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 38 Question Id : 8643516878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :
Options :

86435120639. 1

86435120640, 2

86435120641. 0

86435120642,

Question Number : 38 Question Id : 8643516878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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umevuren Leny @&CGermany(h womib urevGurealld «bleb @ean Cuwirer eflenemui e
2 (Heur@L eflenarGlumrmafler o emar yweaflwur@d enanl Fmensatlen eramamilseans
Options :

86435120639. 1

86435120640, 2

86435120641. 0

86435120642,

Question Number : 39 Question Id : 8643516879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List- 11
(a) Chlorophyll (i) Ruthenium
(b) Vitamin - B, (ii) Platinum
(c) Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
86435120643. (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

26435120644, (@)F (1), (b)-(iii), (c)-(ii), (d)-(i)
86435120645. (@a)-(iv), (b)-(ii), (c)-(iii), (d)-(1)

86435120646. (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 39 Question Id : 8643516879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ULaguiev - T2 ar uiiqued - I -enw Glumméss.

LI g uisv - 1 UL guisv - 11
(@) @GerrGrme s Se i msSafilwub
(b) emaul_L blem - By, (i) Gerriigemd
() udmCGemi ety w@mbg (i) Csrumei
(d)  @mlev eSlenarddl (iv) Quseardlwd

£Cp Garhastiul Herareunblelmpg Was sfwuren afalamusd CoibblsH
Options :
26435120643, @) (i), (b)-(ii), (c)-(iv), (d)-()

26435120644, @)F (W), (b)-(iii), (c)-(i1), (d)-(i)
26435120645, (@), (b)-(i), (c)-(iii), (d)-(i)

86435120646. (@)(iv), (b)~(iil), (c)-(1), (d)-(ii)

Question Number : 40 Question Id : 8643516880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PPh,), | and meridonial-[Co(NH,),(NO,),], respectively,

are .
Options :
l’h3l’\ /Br | /T\'H:_.,
and
86435120647. 3

Ph‘;P \ /BI' 2 \]Oz
\ |
/ \P'F*h3 0, N | NH,

NH,
86435120648.
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PhyP \ / Br
/ \PPh

86435120649.

P}.'ISP \ / Br

H3N TDE NO,

Co

I-ISN/ | \I\IDE

NH,

d
Phy Il‘/ \Br - DZ\J/I'!JH\NOE

86435120650.

Question Number : 40 Question Id : 8643516880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

g7 meariv-[ NiBr, (PPhy),] wiomib GlwflGrreallwe -[Co(NH;)3(NO,)s] <oy, dlwieum dler

gflwrer =epwliyger weanGw

Options :
HmD
Phs P/ \Br DEN/ | NI—I3
86435120647.
\ I
/ \PPh—; o/ ILH\NI Iy
86435120648. 3
NO,
PhyP Br B | NO,
\ / s

/ \PPh

86435120649.
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oN_ N3

Phap\ /Bl"
Ni 5 g

NH,
86435120650.

Question Number : 41 Question Id : 8643516881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog
(B) methane is generated from paddy fields

(C) methane is a stronger global warming gas than CO,

(D) methane is a part of reducing smog.

Choose the most appropriate answer from the options given below :

Options :
86435120651, (A) and (B) only

86435120652, (A) (B), (C) only

86435120653, (B)- (Q), (D) only

86435120654, (2 (B), (D) only

Question Number : 41 Question Id : 8643516881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Spsantcunmley sflwunen hmssarmeie :

(A) WBsCsem yai Geuliuwrse wHmb eaflCeaud uaillyamsamu Carmmeais@.
(B) W&Csen Gped euwielled 2 (heurdlma.

(C) WBsCsan, CO, -ameu &Tligellgd s eiflwdlés qm yell Ceuliubré@n

LT LY GL T (G LD.

(D) WsCsenr ephsdEn uallliyamasuder g U@EHwrEb.

Spssancubblelmbg Blas eflwunen ctlenLamus Cairbbls (.
Options :
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86435120651.

o e
86435120652, (A2 (B), (C) LW

. D
86435120653, () (©) (D) LG

86435120654. (A) (B), (D) L (hib

Question Number : 42 Question Id : 8643516882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Compound with molecular formula C;HO can show :
Options :

86435120655. Positional isomerism

86435120656, Functional group isomerism

86435120657. Metamerism

86435120658. Both positional isomerism and metamerism

Question Number : 42 Question Id : 8643516882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

GHO ~amuiium_ et & Gsram GamosSa srapb bl ;
Options :

(e S e
86435120655, DI LOrHOHILILD

ellenanEasr@dl bl

86435120656.
86435120657, oGl flen

(o ihmib Qo LG i 5 B
c6a35120658. ‘D LOHID QoL rGwfled oflu @remGo

Question Number : 43 Question Id : 8643516883 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List- 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a)  Alcoholic potassium hydroxide (i) electrodes in batteries
(b) Pd/BaSO, (i) obtained by addition reaction
(c) BHC (Benzene hexachloride) (iii) used for P-elimination reaction
(d) Polyacetylene (iv) Lindlar’s Catalyst

Choose the most appropriate match :
Options :
26435120659, @) (i), (b)-(1), (€)-(iv), (d)-(iii)

86435120660, (@)(1ii), (b)-(1), (c)-(iv), (d)-(ii)
86435120661, (@)(i1), (b)-(iv), (c)-(1), (d)-(iii)

26435120662, \@)-(ii), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 43 Question Id : 8643516883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UL aguieo - T2 am uiqueo - I -enw Glummss)s.

U 1quied - 1 ULl 1quie - 11
(Ceudl LGlLum(me) (Lwestun(h) /swrfluy /Geigena Clummen )
(a) pevansreild Glumr L rédwid (i) Wenrseensafle Wlempenemims
EHEAM LT T&en & (h)
(b) Pd/BaSO, (ii) Corsens afleneniier o meurdlmg

(c) BHC (Quenfen Qamdevr @Carrany(h)(iii) B -Bés elanamuiled Liweam Bl ms
(d) wmrell =& 1geien (iv) edlarl e eSlenemyddl

lag sflwneeunenn Cumrmsg)s.

Options :

26435120660, @) (ii), (B)=(1), (c)-(iv), (d)-(ii)
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86435120661, (@)r(1), (b)-(iv), (c)-(1), (d)-(iii)

26435120662, (@) (i), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 44 Question Id : 8643516884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, CEHSMgBr with C HHBD followed by hydrolysis gives compound
“A" which reacts instantly with Lucas reagent to give compound B, C;yjH;CL

The Cnmpound B is :

Options :
el
86435120663.
CH;
C/CL
86435120664.
Cl CH;
86435120665.
CH,
1
CHj
86435120666.
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Question Number : 44 Question Id : 8643516884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CgHgO, dlflganri(y srewil C,H:MgBr 2 L ar elleneru(pid Curg o (meur@h
eflenan@umrmener BrrHLEs@En Curg fenld@Hb A, o Lay s @are &yemtlwL e
aflenar LL_(h C;qH;5Cl eram epeodaam eumiur(y Garaw B -enwd smélms). GikiE
B -eremuig) :

Options :

b

CH,

86435120663.
CHj;
O/(L
86435120664.
Cl CH;

86435120665.

CH;

1

CH;
86435120666.

Question Number : 45 Question Id : 8643516885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,0
.I'JJII.\.H' ]
HT, 4
(Major Product)
Consider the above chemical reaction and identify product “A”" :
Options :
CH,;NH,
86435120667.
: ~CONH,
864351206068.
: .L N—OH
86435120669.
: ~CH,NO,
86435120670.

Question Number : 45 Question Id : 8643516885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

COOH
H,0
.I'.I'ﬁ”' = ; ’
g;ammlm | A
@mm@lun@d’r)

CunsarL Ceudleflenamnie o meur@b eflenerlummer “A” eramug)
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Options :

CH,NH,

86435120667.

CONH,

86435120668.

I
C=N-0OH

SERCRe

86435120669.

CH,NO,

&

86435120670.

Question Number : 46 Question Id : 8643516886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;

Alkaline KMHD4
H s "

i X."f

OCH,

Considering the above chemical reaction, identify the product “X" :
Options :
CH,OH

86435120671. OCH;
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COOH
X_
86435120672. OCH;
CHO
_}{_
OCH-
86435120673, 3
CH,
X -
OH
86435120674

Question Number : 46 Question Id : 8643516886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hs

gsrr KMnO,
H*

} h’x.l’-'

CH,
Cunsear, Geudleflenamuiler eflenerluimmer “X” -m Hewr(hLbig.

Options :
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CH,OH

X_
YCH
86435120671. OCH,
COOH
X -
OCHj,
86435120672.
CHO
_}{_
86435120673. it
CH,
X
OH
86435120674

Question Number : 47 Question Id : 8643516887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H-C CH
3 \\N'/ 3

H;

NaNO,, HCI
} i K rr }__ i Y-’r‘

273K-278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
a1 NN
. _~CH
and O/ N3
CHy
86435120675.
and O/ N
[::f:::} ~ N\CH,
86435120676. Chs
N5 Cl™ };113
d \
an O/ CHj;
86435120677.
Cl ,’CHH
and O/ \CH
3
86435120678.

Question Number : 47 Question Id : 8643516887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H;C CH
3 \N/ 3
H,
NaNO,, HCl
'lr.._ J'.I'X.I‘( } .I'.I'YH'
273K -278K ((pserenio (psetrentn
aflenam(olLim(mer) eSlenerllLim(mer)
Cunsar, Ceudlafenanuie 2 meur@b X womib Y wpennGu :
Options :
el Na i
IR CH

LOMHMILD U N~ 73

86435120675 Hs
LODMILD O/ N
86435120676. !
N3 Cl™ SHa

|_|'_'|:". |_i:| Q

86435120677.
cl SHs
LD i) LD :

86435120678.

Question Number : 48 Question Id : 8643516888 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11 :

List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid (i) Nowestrol
(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iii) Valium
(d) Tranquilizers (iv) Alitame

Choose the most appropriate match :

Options :
26435120679, \-(i), (b)-(iv), (c)-(iii), (d)~(1)

86435120680, (@) (L), (b)-(iv), (c)-(1), (d)-(iii)
26435120681, @), (b)-(i), (c)-(i), (d)-(iii)

s6435 12068y, (@-(V), (B)-(iid), (©)-(0), (d)-(ii)

Question Number : 48 Question Id : 8643516888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ULl iquied - I -2 e uliquev - I -enw Qummss)s.
LI g uisv - 1 UL igwisv - 11
(mhSle alens) (2_snresrin)
(a) <oble Bad i) Comeuevyme
(b) GCewmens @aflly,g (i) &Huoliigger
(€) &mESSenL L(HbS (i) eumedlwid
(d) wear erwdursdl (iv) =ablCGLib
Blag sflwren CuNmSSSems CoTHESH
Options :
sca3s 120670, @), (0)-Gv), (©)-(ii), (d)-(i)

86435120680, (@)1, (b)-(iv), (c)-(1), (d)-(iii)

26435120681, (@) (W), (b)-(1), (c)-(ii), (d)-(iii)
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86435120682, (@)1(1v), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 49 Question Id : 8643516889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is:

Options :
86435120683, Clucose

86435120684, Fructose
86435120685, Galactose

86435120686, Sucrose

Question Number : 49 Question Id : 8643516889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“A” -eTanm @H&ST Frdsemreow, Brrh LuGH@GL Curg Gran(h @OHEED @hans
grasanrsanetd CerhH&fng. A -erenug
Options :
= '-:-_,.- '-I:""-.:- - -
86435120683, GEHFAMED

86435120684, LT HELITED

86435120685, ETOEGLIED

86435120686, FELITEV

Question Number : 50 Question Id : 8643516890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :

86435120687. N2
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86435120688. e

86435120689, NO

N,
86435120690. -~

Question Number : 50 Question Id : 8643516890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L5 5 sflasded senrssiul L 1- priamgaler wHmD Fo.-Ualdlsd ojbleh

Caibs alenendsyenfl, Spssam ergener sewrLMHiul LweruHdEng ?

Options :

86435120687, NO2

86435120688. s

86435120689, NO

=

86435120690. -~

Chemistry Section B
Section Id : 864351460
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351460
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643516891 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Complete combustion of 3 g of ethane gives x % 102 molecules of water. The value of x is

(Round off to the Nearest Integer).
[Use : N, =6.023 x 10%3; Atomic masses inu : C:12.0; 0 :16.0; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643516891 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 lymb FECaenan wodleyd erflliugred xx 102 apadsamser B 2 meurdlng erafle,
X -eremigan HllLy . (eflenL sym&led 2 6TaT (PP eTamTEmTlED)
[@)Ei@E : N, =6.023 x10%; gl Blevpser u -6 : C:12.0;0:16.0; H: 1.0]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516892 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AX is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516892 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AX @m ssuleaaniL, rram apassamn Guaib galw euflas oL el amule
A opmib X gpfluenes @ramLmbd eflens safl nhiser, cpodamm MGl Lmre
Gamemenasulamuilg, AX -ar MenewTliLy erammentl&end 2.5, erafled AX -6 o crer Gwrss
TS TTEEHET 6o 6T euTen bens . (eflen_ (p(p eTamTemiled)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516893 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
CH, - CGH,+H,
the reaction enthalpy A H= k] mol 1. (Round off to the Nearest Integer).
[Given : Bond enthalpies in k] mol 1. C—C:347, C=C:611;
C—H: 414, H—-H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516893 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
C,Hy — CH,+H, eranmm eflenanuien eflenen Qeuliuibd A H= k] mol %,
(eflen_ @y(m&led o aTem (Y eTamTamTlen)
(@@ : Gevemtiuy Qeuliud k] mol ™! -éb : C—C: 347, C=C: 611;
C-H:414, H-H: 436]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :
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100

Question Number : 54 Question Id : 8643516894 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is %1073, (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol !

Freezing point of pure water =0"C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643516894 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 Corard HA eamm aiflub @Gonhs <iWessmrsder o am Hlane 3.885°C.
sciaullewgdler Gflens efgd _ _ x1073. (eflenL mdléd 2 emer apy
eTamTantlen )
(@R : Bfler 2 enpflenedgmipa wrhlell =1.85 K kg mol ~?
g Bflen o enmfleney =0°C]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643516895 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acetic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid) =4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643516895 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

pH 5.74 2 dmem @ SMhi&GD sanrsd sUféaEs, AH s oWlassHLar CaFrigud
S FLCLL CorssupEng. smmhiss sarsala o erar f g s blassean Gabley
1.0 M crafler, g sampsala 2earer Goargud HALCLiger Geley
M. (eflenL =yméled o emem 1p(p eremTamiled)
[@rg : pKa (il d owlan)=4.74]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643516896 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe®* (aq) + 21 (aq) — 2Fe?* (aq) + I,(s)
the magnitude of the standard molar free energy change,

o

AG,, == __ k] (Round off to the Nearest Integer).
LJFEE"'{{FE{:s} 2 0.440 V ; LJFEHHFE{:,'}: 0.036V
E' /- = 0539V;  F=9500C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 56 Question Id : 8643516896 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2Fe*(aq) + 21~ (aq) — 2Fe? * (aq) +1,(s) ereom ellenamuen &l CoramT &1 iq a0 <, mHmeD

wrdmd A,Gy =-__ k] (eflen ymdléd o adrer ap(p eramentle)
E* gt /pe) = ~ 0440V EPpat pyg= — 0036V
B, fq1- = 0389V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516897 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +CLy(g) = 2 NOCI(s)

This reaction was studied at — 10°C and the following data was obtained

run [NOJ, [CL, ], I,
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, and [Cl,], are the initial concentrations and r;; is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516897 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 NO(g) + Cly(g) — 2 NOCI(s)
Cupsar_ eflenar —10°C -GeuliuBleauie HEDSSULLH EDEEETL HTaysHar

$en_&sL01 L am.

&L eneu&eT[NO], [CL], r,

1 0.10 0.10 0.18

2 0.10 0.20 0.35

3 0.20 0.20 1.40

[NO]y, whmw [Cl]ly flwemen rbu Cedley Coaib ry -erarug <,rbU
cilenenGeuasd erafled eflenanuiflen GCwrgs eflenar cuans . (eflen oy
T amTamlleh )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516898 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K,[Cr(oxalate),] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516898 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

K;[Cr(oxalate),;] ereirm eneameud CerwsHda o drer salldgs ered&lrrermsat e
3 3 D Gl
6T GOt GoT| 6 & . (eflen_ p(p eTemTemled)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 59 Question Id : 8643516899 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,0) if the percentage yield is 64. (Round off to the Nearest

Integer).
|Given : Atomic masses : C:120u, H:1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516899 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
3 -enanl gré&d yerriueamres (MW=74) fifssd ClFlg 7.8 frrb &Crmeler
C;H,0) (MW=56) swirfl&ss Caenculiuipibd 3 -enaml_rrédl yGlrriuermedler eTenl
(GH, 5 & Gz G anl yr&dl LGy

Symb @euelanamien elenardgd FHeisb 64. (ellen el 2 drar 1o

GT G | 60 )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643516900 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction of 0.1 mole of Benz:i,-'la_m_f_m:- with bromomethane gave 23 g of Benzyl trimeﬂ‘u}-'l
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx1071, when n= . (Round off to the Nearest Integer).
[Given : Atomic masses : C:12.0u, H: 1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643516900 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HCrrGuwr 5&CsayLan 0.1 Curéd Quamsawlar elameayflagra 23 &ymo

Quenenaved Leny Bsamsed bmGoraflun yCrrenw® Hasdng. @ eielanamnid

Gaameauumin yGrrGwr BsGsallean Gurasaflan ereameaniléeans nx10

! grasfled @

R . (eflen ym&led o emer (up(p eTemTentlad)

(@) : =iam Blenmaer : C:120u, H: 1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351461
5

Online
Mandatory
20

20

80

Yes

1
864351461
Yes

Question Number : 61 Question Id : 8643516901 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the functions are defined as f(x)= Jx and .g(xj = 4/1 — x, then what is the common

domain of the follnwing

(f = g)x)=f(x) = gk), (f/8)x) =

functions

f(x)

g(x)

f+g f—s5 flg. 8&/f g§—f where
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Options :

86435120701, 0 = x <1

86435120702, 0 <x <1

86435120703, 0 =¥ =1

86435120704, V<x =1

Question Number : 61 Question Id : 8643516901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f(x)=Jx oHmb gx)=V1—x e Friy&eT eueTUNESLILL LT, f+g, -8 /8

g/l g—f 6T 60T FIT T L& @l i Clumg FMITU& LD, @) 1 (&

3 x)=f(x) x elx x) = M
(f = 8)(x) =f(x) = g(x), (f/8)(x) privel

Options :
86435120701, 0 = x <1

86435120702, 0 <x <1

86435120703.

86435120704, 0 <x =1

Question Number : 62 Question Id : 8643516902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation .a P +az+az+d=0 represents a circle where a, d are real constants,
then which of the following condition is correct ?
Options :

i RRSCE NS
86435120705, |@“~ad = 0andae R

x

S
86435120706, ad >0 and a ¢ R~ {0}

2 .
86435120707, @~ — ad=0
65/90
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i y b
86435120708, @=0,a de R

Question Number : 62 Question Id : 8643516902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a, d eremuen @i wridserrs Garan(® az]* + az +az +d =0 eremm FwemLT(H

R el Lang @hssre Spssarl ehs sLHuur® sfwreg ?

A b
Options :
86435120705, |@/*—ad = O wpmid a € R
86435120706, | /> ad > 0 wpmib a e R {0}

2 .
86435120707, |«~ —ad=0

i ; ]
86435120708, @=0 a deR

Question Number : 63 Question Id : 8643516903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 2 B 2 I 5
Let A+2B=| 6 -3 3| and 2A-B=|2 -1 6|. If Tr(A) denotes the sum of all
5. &1 0 i 2

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435120709. 1

86435120710.
86435120711, 2

86435120712, Y

Question Number : 63 Question Id : 8643516903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

1 20 2 I B
A+2B=| 6 -3 3| pmw 2A-B=|2 -1 6|crens. Tr(A) eramug el A -ulen
5 3 -1 0 ] 2

Wpaemend epaneeldll L 2 mliyssaflen smgana @bldsrer Tr(A)—Tr(B) -en wdlly
Options :
86435120709. 1

86435120710,
86435120711, 2

86435120712, U

Question Number : 64 Question Id : 8643516904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let o, 3, v be the real roots of the equation, 2 +axrl+bx+c=0, (a,b,ce Rand a, b= 0). If

the system of equations (in u#, v, w) given by au +pv+yw=0; pu+yv +taw=0;
o

L35 . a .
v + av + Bw =0 has non-trivial solution, then the value of o is :

Options :

86435120713. 0

86435120714, 1

86435120715. 3

86435120716. 2

Question Number : 64 Question Id : 8643516904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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a, B, y erenuen x>+ax2+bx+c=0, (a, b, ce R womib a, b # 0) erenm &FeTUTLlg M
Gl ppamsear eans. GlarGE&slul(Herer au+pBo+yw=0; Putyo+aw=0;

s 2 AW Qe B '
yu+av+Bw=0 erein Foearurl_(HF Aesm@ELln@ (v, v, w -&) eefllamwlaans e
2
o Spi Saiis . & . R
(non-trivial) &lenL&@HD ereriled - iy :
Options :

86435120713. 0

86435120714, 1

86435120715. 3

86435120716, 2

Question Number : 65 Question Id : 8643516905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
15 :

Options :

86435120717, 22264

86435120718, 26664
86435120719, 122234

86435120720, 122664

Question Number : 65 Question Id : 8643516905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1,2,2 womib 3 eransanersd lsrambh GleucuGeum 4 @ass cransaflen Fmbhse
Options :

86435120717, 22264

86435120718, 26664
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86435120719, 1222°

86435120720, 122664

Question Number : 66 Question Id : 8643516906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let (1+x+2x2=a +a,x+ax2+....+ax10. Then, a,+a;+a.+.... ka,- is equal to :
Options :

jl‘){jz{] | '}l]
86435120721. = *~ )

721{72{] | 71]
86435120722. = '~ =

21‘3{22{] 21]
86435120723.

23] {22{] 71 ]
86435120724.

Question Number : 66 Question Id : 8643516906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1+x+ 222 =a,+ax+ax? +... +a,xt0 erans. LCUTWE a, +as+ag+....+ag, -al
&l
Options :
71‘3{72{] | 'jl]
86435120721. = *~ il
731{72{] | 71]
86435120722. = = =
21‘3{22{] 21]
86435120723.
23]{22{] 21]
86435120724.

Question Number : 67 Question Id : 8643516907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The value of 3 is equal o :

1
4 1
i
3 4 :
4
I+ ... %
Options :
86435120725, 12 T V3
86435120726, 2 T V3
2
86435120727, 2\3

86435120728, 4+ V3

Question Number : 67 Question Id : 8643516907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 4 A -
4 4
1
3 4
44 !
3 -l LL!ﬁf;]l_lH
Options :
86435120725, 12 T V3
86435120726, 2+ V3
2
86435120727, 3 + 293

86435120728, 4+ V3

Question Number : 68 Question Id : 8643516908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1 1 :
I I i o I —,,1 is equal to :

32 -1 5%2-1 7%-1 (201)

Options :
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25

01

et

86435120729.

101
86435120730, 108

99
86435120731, 100

101
86435120732, 104

Question Number : 68 Question Id : 8643516908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1 1 . :
2 1|52 1'-,2 B s |—21-@a Lol
- /

Options :
25

86435120729, 101

101
86435120730, 408
B
86435120731, 200

101

86435120732, 404

Question Number : 69 Question Id : 8643516909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a, B are natural numbers such that 100* 1993 = (100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through («, ) and origin is :
Options :

86435120733, 210
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86435120734, 230
86435120735, 240

86435120736, 220

Question Number : 69 Question Id : 8643516909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100% — 1998 = (100)(100) + (99)(101) + (98)(102) + ...+ (1)(199) erenpeuTD A DhE E)we
erawTger a, B erafled 24l wHmID (o, B) euld Cleaayd Gariiger Frie :

Options :

86435120733, 210

86435120734, 230
86435120735, 240

86435120736. 250

Question Number : 70 Question Id : 8643516910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| 1
e ; x| =1
If f(x)=+4I% is differentiable at every point of the domain, then the values of

taleb; xl=1

aand b are respecfivel}-' :

Options :
3 3
86435120737, = 2
3.0
86435120738, 2 2

B | 2

5
86435120739, 2
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1 3
86435120740, 2 2

Question Number : 70 Question Id : 8643516910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| (1
it ;xl =1
flx)=4I* eranm &L FTiussHled o emer eraverm Leraflgafl &g b

{axz Fbh: |x|<1

Clgrordflursald auansllsasssraad deGsra a, b -saflen iy wennGuw

Options :
1 1
86435120737, = 2
3.0
86435120738, 2 2
5 3
5" 3

86435120739.

| W

1
86435120740, 2 2

Question Number : 71 Question Id : 8643516911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

cosec lx

The real valued function f(x) = ——==, where [x] denotes the greatest integer less than or

Jx — [x}

equal to x, is defined for all x belonging to :

Options :

86435120741 all reals except integers

86435120742, all reals except the interval [ 1, 1]
86435120743 all non-integers except the interval [ —1, 1]
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26435120744, Al integers except 0, —1, 1

Question Number : 71 Question Id : 8643516911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1
cosec X o B a0l it : BEEN.T g _ A
f(x) = W eramm Gl erawseflean ariy, @@ [x] eremrug x -@ Sl Wsrs
v
SOGEUMm W 6TeiT, T X-&@Eh&@HD uanTuUnSSILLL T x @(HEESD @D
Options :
86435120741, (P CTETEGT @eeTs eTadevm Clow 6T aiTaeT

86435120742, L~ 1 1] erenm @en Gleuaflller Gléveors eraverm Gl eraimaa

86435120743.
1, 1] eramm @enL_Gleuafluieéd Eléverrs erebedm WN(DESHET @IS 6TEHTSET
m : CECY 2 :

) TSRS Sl CTOMT (P(p CTERTERT
86435120744, O — 1 1 GTEH]D ECTGNEENETH FEy THDT ALY GTEWIHS

Question Number : 72 Question Id : 8643516912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o [ ] -1
im SiIn  x —tan “x

If i—:ﬂ 5 is equal to L, then the value of (6L +1) is :
Options :

1
86435120745, ©

86435120746 ©

86435120747, 2

1
2
86435120748.

Question Number : 72 Question Id : 8643516912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

; -1
Li.ﬂ'l. 51N X tan

x— 3

X L erafléd (6L + 1)-am ol :
3x° :

Options :

o | =

86435120745.

86435120746 ©

I3

86435120747.

M| =

86435120748.

Question Number : 73 Question Id : 8643516913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1)cosy(2x — 1)° A

‘u"r:lxz

5
dx is equal to :

_ (2x
The integral _[
dx + 6

(where c is a constant of integration)

Options :

i
;sin\/{h' I '1]2 i o
86435120749. <

isf_thuu'r{ﬁx '1)2 -5+

86435120750, 2

@
86435120751 Rl Es B

1 9
;cnax.'f{zx F1)" +5 +¢
86435120752, =

Question Number : 73 Question Id : 8643516913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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|
B and
2x —1)jeesj(2x—1)" +5 : [V :
J'( ) - o ) dx eram QsrensuSigen wi :
Vax? —4x +6
(@@ ¢ eramug Cgrensudleller flenL&@Hn wmrmledl)

Options :

i
;sin\/{h’ I 1]2 FD ¥
86435120749. =

3
—st{Zx 1]2 F5 +cC
86435120750, 2

i |
—cns«.,j[(Ex 1]2 ke
86435120751, 2

1
—cos«,.fr{Zx I 1]2 5 +¢
86435120752.

Question Number : 74 Question Id : 8643516914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The differential equation satisfied by the system of parabolas y*=4a(x + a) is

Options :
2
86435120753,  \dx ) Ldx )
y{d—yw sz{d_y) y=0
86435120754, dx/ Ldx )
dy\? d
W) -2 +y=o0
86435120755. J J
dy )2 d
oL - {3 -v=0
86435120756. J \dx

Question Number : 74 Question Id : 8643516914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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y2=4a(x+a) ereamm ureuenem eTweUrlen. Hlenmey ClFUWLD eumssbs (s

FLoeorum(h) :
Options :
2
F{d—ﬂ 'E’f{d—ﬂ y
86435120753,  \dx \dx
(2] ()
86435120754, X/ \dx

86435120755. [

86435120756.

Question Number : 75 Question Id : 8643516915 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :

x2+y?—10x— 10y +41=0
x2+y?2—22x - 10y +137=0
Options :

86435120757.
86435120758.

86435120759.

circles have two meeting points
circles have no meeting point

circles have DI‘II}-‘ one meeting, point

86435120760. circles have same cenlre

Question Number : 75 Question Id : 8643516915 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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G Qar@ssiulHeter @rawh eul L higamerl updlu sflwurer smpen QAgfey
ClFs.
24+ y?—10x 10y +41=0
x2+y2—22x— 10y +137=0
Options :
86435120757, LEsET @ram(h Leretlsatla) &pdléslen e

86435120758, S LBSET erhs Lenallbayn shélssctidma

86435120750, M--HET @GrR® LaTallle shslEsdms)

26435120760, Ul L misaflenr enwkiger gen(m

Question Number : 76 Question Id : 8643516916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the four circles M, N, O and P, following four equations are given :

Circle M : ¥2+17=1

Circle N : x2+y?—2x=0

Circle O : 22+ y2—-2x—2y+1=0

Circle P : x2+y%>—2y =0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle P and lastly,

centre of circle P is joined with centre of circle M, then these lines form the sides of a :

Options :

86435120761, Rectangle

86435120762, Rhombus

86435120763, >duare

86435120764, | arallelogram

Question Number : 76 Question Id : 8643516916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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M, N, O whmib P eranm el L hisar $Cp Garhissiul(Hereng,.
ulLib M: x2+y?=1
el L1d N :x2+y?—2x=0
ulLbO: a2+ -2x—-2y+1=0
el Lib P:aZ+y?—2y=0
ULl LBig&ar M, womib N -ar enwwmigsamer @aeanss GL@ID 6l L IS
N wpmd O -a ewwkisEr; eul L kisar O womnn P -ar eowwnser; senLfwurs
euLL BigaT P oHmib M -6 enwWhISET @laney 3 amandeans L @lanamSsre @)hs
Bren@ Car(haeneT LSSBIGETTS Olf el _g) :
Options :
86435120761, PlFeuausD

86435120762, T HISITLD

86435120763, ST

o) G GO &HIT LD
86435120764. & 7

Question Number : 77 Question Id : 8643516917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of integral values of m so that the abscissa of point of intersection of lines
3x+4y=9 and y=mx +1 is also an integer, is :

Options :
86435120765.

86435120766. 1

86435120767, 2

86435120768, 2

Question Number : 77 Question Id : 8643516917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3x+4y=9 wHML y+mx=1 erenm Carhiser Ceul R Yerafludenr HenL gy
(Abscissa) (h (Lp(LD GTERTEMITS HENLDWD (LP(LD GTEHT M -GN GTEUTEm | HENS :
Options :
86435120765. 0

86435120766.

86435120767.

86435120768, 2

Question Number : 78 Question Id : 8643516918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of one of the straight lines which passes through the point (1, 3) and makes an

angle tan 1 (y2) with the straight line, y + 1= 3.2 1 ig
Options :
86435120769, A2 x +5y — (15+ 442) =0

86435120770. 42 x -5y~ (5+442) =0

86435120771. 5v2x +4y — (15 + 44/2) =0

86435120772, N2 x +57 — 442 =0

Question Number : 78 Question Id : 8643516918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1, 3) ereim yerefl ePflymd ¥y +1= 32 x arerp Gaml(RLenr tan 1(v2) erémm
Careamseng o (HeurdEn Carligean Fwearum(h :

Options :

26435120760, W2 x +5y — (15+42) =0

sea3siaor70. WN2x—5y — (5+442) =0
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26435120771, OV2x T4y — (15 +442) =0

.. - 2 = —
86435120772, N2 x +57 — 442 =0

Question Number : 79 Question Id : 8643516919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

2 . 2 . 2
1+ sin“x sin“x sin“x
3 -3 3
cos“y 1 + cos“x cos“x{=0,(0<x <), are :
4 sin2x 4sin2x 1+ 4sin2x

Options :

86435120773, ©
86435120774, 1

86435120775.

2

86435120776 ©

Question Number : 79 Question Id : 8643516919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢

. < 2 . 2 :
1+ sin“x sin“x sin“x

2 4 ; " . : :
cos’x 1+ cos’x cos’x| =0, (0 <x <) arémm FLOETUTL Lo 6 ST euser :

4 sin?y 4 gin2y 1+ 4 sin2y
Options :

r

i
6

o | g

86435120773.
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86435120774, 12

T 1l

86435120775, 12 12

N

aT
86435120776 12

Question Number : 80 Question Id : 8643516920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁ
A vector a has components 3p and 1 with respect to a rectangula_r cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
- ﬁ : -
with respect to new system, a has components p+1 and /10, then a value of p is

equal to:
Options :
86435120777 1

86435120778, ~ 1

IS

86435120779.

W | o

86435120780.

Question Number : 80 Question Id : 8643516920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ClFcucus srineflwer emwiley a eremm Geusfer sm&er 3p wOHMWD 1 2y, @ELW.
@bs iy pdlaws durmss sgsny Hasuler erdli Henguldlenr qm @Ol L
CarensdlnE swnnuubhdng. @6s Udu ewldlda e a -an Fam&er p+1
LOMMILD '\,"1_{] erafled p -aim WHlLLy
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Options :

86435120777. 1

86435120778, 1

4

86435120779, 2
5
86435120780.
Mathematics Section B

Section Id : 864351462
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351462
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643516921 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let z;, z, be the roots of the equation z> + az+12=0 and z,, z, form an equilateral triangle
with origin. Then, the value of ja|is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 81 Question Id : 8643516921 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

83/90



3/18/2021

7., Z, GTermllen zZ2+az+12=0 Fwerur _laal PPQBRISETTSAID GOe)D Z,, Z, 6Te L6
1 3 Lq— \ : 1 2
Sl e FoUES PECETaTSmS 2 (Heurs@GElng. Lburwpg |a| -ar wsliy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516922 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x?) + g(4 —x)=4x" and g(4 — x) + g(x) =0, then

4
the value of I sz )dx is
—4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643516922 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643516923 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0
. 3 B i
L e
If f(x)= -[ A L — dx, (x = 0), f(0)=0and f(1)= L then the value of K is
(x2 +1+247) K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643516923 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5x% + 7x®

— dx, (x = 0), f(0)=0 LHD f(1)= — erailéd K - wdiy
x? +1+2¢") K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516924 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve x*y*=1. The midpoints of its sides also lie on
the same curve. Then, the square of area of ABCD is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516924 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643516925 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the plane ax + by +cz+d =0 bisect the line joining the points (4, —3, 1) and (2, 3, —5) at
}

the right angles. If a, b, ¢, d are integers, then the minimum value of {az Fb2 4 2 4 d-""—j is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516925 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516926 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The equation of the planes parallel to the plane x — 2y + 2z — 3 =0 which are at unit distance
from the point (1, 2, 3)isax+ by +cz+d =0. If (b —d)=K(c— a), then the positive value of K
15

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516926 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643516927 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643516927 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643516928 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of times the digit 3 will be written when listing the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643516928 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 8643516929 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

88/90



3/18/2021
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643516929 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count

: Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 90 Question Id : 8643516930 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation |cotr | = cotx 4 in the interval [0, 2] is

SIMY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643516930 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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